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1-1)
SS400
(N/mm°)
(mm)
SS400 STK400 t 40 156 904 235 136
1-2)
Vcr= 40 (m/s)
1-3)
P=0.615 X C X Vcr’ X A
P: (N)
C:
vcr: (m/s)
A: (m?)
1-4)
JIL1003 2009
n
C
1 1.2
2 LED 1.2
3 1.3
4 ( 13
5 0.6
6
1-5)
n
(m?)
1 0.432X0.656 1 0.2834
2 LED 0.021X0.022 1 0.0462
3 0.10X4.50 1 0.4500
4 ( 0.090X2.00 1 0.1800
5 ©0.50 2 0.3927
6




4-1)

P=0.615 X C X Vcr’ X A

ver=
n C A(m?) | Pn(N)
1 1.2 0.2834 334.6
2 LED 1.2 0.0462 54.6
3 1.3 [ 0.4500 575.6
4 1.3[ 0.1800 230.3
5 0.6 | 0.3927 231.9
6 0.0 | 0.0000 0.0
> Pn= 1427.0
(Py= 0.146 tf)
n
Pn(N) h(m) Mn(N m)
1 334.6 3.300 1104.2
2 LED 54.6 3.000 163.8
3 575.6 2.250 1295.1
4 230.3 4.600 1059.4
5 231.9 5.000 1159.5
6 0.0 0.000 0.0
>Mn= 4782.0
(M= 0.488 tf m)



5-1)

ob=>Mn Z
Z (mm°) 100X100X3.2t
Z= (bh®-b1h1%/6h
387426
b= 100.0 (mm) h= 100.0 (mm)
bl= 93.6 (mm) hl= 93.6 (mm)
ob= 1235 (N/mm? <235 (N/mm°)
6-1)
PH= 0.146 (tf)
6-2)
4-1)
M= 0.488 (tf m)
6-3)
B (B=60 cm)
PH= 0.146 (tf)
M= 0.488 (tf m)
L

JIL1003 2009

L=110 (cm)
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